Y101HOZ2 Installation Instructions

iIngboard=17

1/ M8 Spr

\
J

w4

N

MM

W

\
|

)

/.

J

]

)

).

)/

M
‘H““

]

/)

).

)/

W

W
‘HH‘

S

))

W

|

)2

W\
\

N

A

3
1/4

12| Screw M8*60=4 |Cleat Nut M8*20

/)

\\
/4

N

N

W

}}
)

\)J]

AN

)

)

N

\
)
)

M

~

lent Felt Pads

8 | Round S

1 | Screw M8*35

laced in one hardware package each

ISP
lls are listed below
Screw M8*20

Self-tapping wire M4*20

1

Allen M5
M8 Gasket=17

The number of hardware for left

and right sofas
Hardware ref




Part Schematic:

Assembly sequence
Step 1: Link parts 9),@ , and ® to part ® in turn with screws

2/4




ing Is completed, stick the

Step 2, link the part 2 to the part 1 with screws according to

the illustration, and after the link
felt(l) evenly to the back of the shelving board to reduce the

risk of damaging the wall paint by friction or movement

between the sofa and the wall.

3/4

Link parts ®, @), and (9 to parts ® and @ with

screws according to the illustration, and lock the two
side screws through the back plate to the rear legs.

Step 3




~

Step 4: Install the right sofa in the same way, and link the left
and right sofas together with screws once assembly is
complete.

Step 5: Assemble the seat plate and lifter links according to
the guide holes under the seat plate as shown.

4/4




